Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C322801 Date: 01-01-2016
Subject Name: Fibre Science and Technology
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

grR W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Y Aa [Asc.

Cottonis a fibre.

A. Natural B.  Synthetic

C. Regenerated D. Animal

sleat A U D,

A gerdl B. R8s

C. Jlagotdes D ywgllyet
Polyester is also known as :

A. Orlon B. Dralon

C. Perlon D. Dacron
WcllAzeR st el ueL vl 8.

A ARA B 3.t

C. W D 350t

Nylon-6 fibre is prepared from :

A. Caprolactam B.  Adipic acid

C. Ethylene glycol D. Terephthalic acid
AlAAA-S SR Hiell slottateti 2 8.

A FAseu B adluls ARls
C. SRt sctaslet D. z@dls AR
The density of wool fibre is gm/cm*

A. 130 B. 1.03

C. 132 D. 150

Bloto{l otcll oA ®.

A a3 B .03

C. q32 D quo

Which is the fibre forming polymer?

A.  Cross-link B. Branched

C. Linear D. None of these
sl WAlHR L coilclatlR 82

A Rse®d B el

C. lla D ayuuiell Asugt o1&l

is a protein fibre.
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10.

10.

11.

1.

12.

.

13.

3.

A. Cotton B. Silk
C.  Viscose rayon D. Lycra
Welot $LSGR B.
A Sledt B Yam
C. (A8l 22t D. @st
Terylene is made from ethylene glycol and
A. Adipic acid B. Caprolactam
C. Terephthalic acid D. Dimethyl Terephthalate
2Rlot SR dcttasd wal Hiell slotlatetHi w1 B.
A Qs AR B. 3uldsen
C. z@dls ARs D sRudd e
Which variety of silk accounts for 80% of nation’s total production?
A.  Muga B.  Mulberry
C. Tassar D. Eri
2ol 565 (Aol SLON Aol A GAULEAHT CO% B2 B?
A oy B, yadl
C. xR D adl
Which fibre has lowest moisture regain?
A. Polyester B. Nylon-6
C. Acrylic D. Polypropylene
sell 2MLe{l AeroLelt 2l AL 20 B2
A QellakeR B sitauclot-s
C. ABds D Q@a@st
Cotton dissolves in
A.  70% H,SO4 B. 7% H,;SO4
C. 100% H,SO4 D. 17% H,SO4
sleat H LA B,
A 90% H,S04 B 9% H,80,
C. 100% H,S04 D. qu% 1,80,
is a thermoplastic fibre.
A. Cotton B. Nylon-6,6
C. Lyocell D. Viscose
AR s ISR B.
A Sleat B sttaclel-s, s
C. @ D (Qrslu
Which functional group is present in structure of cotton ?
A.  -NH; B. -OH
C. -CONH D. -COOH
Sleatoll sl 520 (sauallat AYs sl &l &2
A. -NH; B. -OH
C. -CONH D. -COOH
Count x denier=
A. 5153 B. 5535
C. 5353 D. 5315
51Goe x do{laUR =
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14.

.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

20.

R0.

A yasy

C. y3u3
is a hydrophilic fibre.
A. Cotton
C. Polypropylene
U G AULES ML B.
A fleet

C. Q@@

B.
D.

wu3y
U3y

Polyester
Nylon-6,6

Wele?
olAAA-S, S

As the denier of the yarn increases the fineness of the yarn

A.  Remain constant B.  Increases
C. Decreases D. None of these
B Alololl SoflAR dBl AM aAlelof UWldUUR] B,
A U ) B. ol
C w2 D. el As uwl o8l
Which fibre has highest density?
A. Silk B. Cotton
C. Polypropylene D. Nylon
sl Anlefl ottt Al aurR B2
A dam Sleot
C. Q@ud@st ollAAt
Dull yarn is produced by using :
A. Titanium dioxide B.  Optical brightening agent
C. Sodaash D.  Aluminium oxide
oll GUA0L 531 RBiwL 2lelo] BeulEat s3] AsLA O.
A SRR sllsss B. dlsd aeSeellol Aoz
C. AstAa D Aey@@an Asue's
The moisture regain of polyester fibre is % at 65% R.H. and 70°F.
A. 0.04 B. 1.04
C. 40 D. 04
SU%RH WA YO°F A WAz 201l 2™Lell AoaLeRLLs % 8.
A 0.0¥ B. 1oy
C. ¥o D. oy
Nylon-6,6 is a fibre.
A.  Synthetic polyamide B.  Natural polyamide
C. Cellulosic D. Polyurethane
AlAAL-5,5 A MU,
A RAs WAAUE'S B gerdl Q@A
C. ARAs D Qclly2@et
Weight in grams of any filament having 9000 meters length is called
A. Count B. Tex
C. Denier D. Dtex
€000 Hl2? calleS YRladi 5165 uRl (cttNoz o] AUHHL datal
A 5Ge2 B 2
C. 3oflar D dRal



21.

1.

22.

.

23.

3.

24,

RY¥.

25.

Y.

26.

26.

217.

0.

28.

Polyester fibre is manufactured by spinning process.

A. Dry B. Melt
C. Wet D.  None of these
W2 el nllef BeulEat AWo{lol YIRAU gl Al B,
A sl B. Aee
C. Qe D. el Asuwl o8l
fibre is a co polymer.
A. Acrylic B.  Polyester
C. Nylon-6 D. Polypropylene
AR B,
A Aldls B.  QellRle?
C. sladlet-s D. Q@@
An acrylic fibre dissolves in :
A. Dimethyl formamide B.  Acetone
C. Acetic acid D. Formic acid
Ascls 2 Hi gl Al .
A slaRasd SIS B, QRRlt
C. ARRsARS D. q6ls ARs
The melting point of Nylon-6 fibre is °C.
A. 205 B. 215
C. 251 D. 201
sllAAl-§ nlle] dlctat(olg °AB.
A 204 B. 2y
C. Ruq D 201
Which monomer is used to prepare Nylon-6,6?
A. Caprolactam B.  Adipic acid
C. Ethylene glycol D. Terephthalic acid
lAAet-5,50{l tlotlcle Hi s20 HlollHR duRla B,
A Fdlaseu B Qs ARLs
C. SRt sctraslet D. z@dls AR
Which spinning method is used to produce acetate rayon?
A. Dryspinning B.  Melt spinning
C.  Wet spinning D.  None of these
AR 2Aotoll GeulEat HI2 585 RU{l0oL Ugldoll GUAL sRaUMl A B?
A sl @ellol B Ree @01
C. Qe Rl Do 2ol Asugt otel
fibre has serrated cross section.
A. Cotton B. Nylon
C.  Viscose rayon D. Acrylic
Lol AUUSIDE ELALER SlA B,
A flest B slacdlst
C. (A8l 22t D. ABdls
The density of Nylon-6 is gm/cm®.
A 104 B. 141
C. 1.40 D. 114
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RC.

29.

30.

30.

31.

3.

32.

3R.

33.

33.

34.

3%.

35.

sllaAAlet-Soll Yot AUHALBL.

A q.0¥% B. q.¥1

C. a0 D. qay
Cuprammonium rayon is a fibre.

A. Regenerated B.  Natural

C. Synthetic D.  None of these
syl 21 2ot A B,

A Qlwa2s B.  gerdl

C. RAAs D. el Asual o8l
The degree of polymerisation of cotton is :

A. 250-270 B. 300-350

C. 1500-3000 D. 350-370
sl2eto{l S1ofl A g WAHRAS D2lot 8.

A 240-290 B. 300-3u0

C. QU00-3000 D. 340-390
As the count of the yarn increases the fineness of yarn

A. Decreases B.  Increases

C. Remain constant D.  None of these
BH Alololl $1Ge2 Al AM lele] UldoWUg] 8.
A2 B. a@

C. wun W D. el Asuwl o8l

Which steps are omitted from viscose rayon manufacturing process to manufacture
polynosic rayon?

A.  Steeping and shredding B.  Steeping and churning

C. Ageing and ripening D.  Churning and mixing

WAAAS 22 ototl GAUlEot HI2 (QrslM 22 otoll Guleotoll UlBauniell s dotsst
B AILRLALHL WA B?

A RBlloL wa Aslol B. 2lot el uallot
C. Qaflor ua Aualal D yoflor el Mello

is a staple fibre.
A.  Wool B. Silk
C. Nylon D.  Polyester

A g5l U D.
Glat B. Yau

C. sad D. Qe

is a fibre material of wool.
A. Cellulose B.  Fibroin
C. Keration D. None of these
Glot ML MYs UELS sl B.
A ARIA B, gifedleSot
C. 3l D umigll Asunl 81
Linen is a fibre.
A. Mineral B. Animal
C. Man made D. Vegetable
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34.

36.

36.

37.

30.

38.

3¢C.

39.

3¢.

40.

¥0.

41.

¥q.

42.

¥R.

Alotot N LB,

A yoflosysd B, yuelleset

C. YadRMd D.  getrufeset
Wool dissolves in at boil.

A.  5.0% HCI B. 5.0%NaOH
C. 0.5% HCI D. 0.5% NaOH
Glot Hi G50l dAlUHLA LA B.

A Y.0% HCI B.  4.0% NaOH
C. o.u%HCI D. 0.u% NaOH

Nylon-6,6 also known as .
A. Polyhexamethylene adipamide B.  Polycaprolactam

C. Polyethylene terephthalate D.  None of these
olAAt-S, S SEIERTEENOUTTHER ]
A QAQRsHRARE@A A Ags B Q@ NAseH
C. Q@B 22wz D. el Asupl o8l
The range of moisture regain of wool fibre at 65% R.H. and 70°F is %.
A. 5-12 B. 12-15
C. 15-18 D. 09-12
Gloto{l AU 6RIAGAA [QrcAlR SU%R.H. WA VO°F cdlUHlal % 8.
Ayl a2 B q2eflqu
C.quallac D ceollqe
is an elastomeric fibre.

A. Orlon B. Lycra
C. Lyocell D. Dacron

A BARAAIS ™ B,
A ARA B @st
C. ada D. 335l

is a biodegradable fibre.

A. Nylon B.  Polyester
C. Polypropylene D. Lyocell

A GRASINIce L B,
A sllacet B Qcllalre?
C. QU D @da
Staple length is a property of textile fibres.
A. Essential B. Chemical
C. Desirable D.  None of these
RUA AULE A 2galefE Rllall o .
Ay o3l B 2u2@s
C. Suwella D. el Asugl o1&l
Which of the following fibre is an animal fibre?
A. Lyocell B. Wool
C. Cotton D. Linen
o{lAetl WSl 520 LT YlR(losoU SLES R B?
A dRde B Gt
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43.

¥3.

44,

Y.

45.

¥4,

46.

¥S.

47.

¥9.

48.

¥C.

49,

¥C.

C. Sed D llotet
The fibrous part of the silk fibres called

A.  Sericin B. Keratin
C. Fibroin D. Cellulose
Mol MUYSA LIl sdllA .
A Al B 3218let
C. g8dgat D Acydl
is used as the raw material for manufacturing of cuprammonium rayon.
A. Adipic acid B.  Cotton linters
C. Ethylene D. acrylonitrile
s YA 2 etoll Ul oMl slUl HIA d7l3 AU B.
A adllls AR B fleat Aol
C. sl D.  ABAuSa85c
fibres dissolves 85% formic acid.

A.  Wool B.  Polyester
C. Acrylic D. Nylon-6

ML CU% SIS ARSHL AOLA 8.
A Qe B Qe
C. ABs D sadet-s
Which part consists of morphological structure of wool ?
A.  Primary wall B. Lumen
C. Cortex D.  None of these
Blotoll HISIA)SEH GlUlRQUHL S0 Lol WAL 8l 8.
A ydl Qa B. it
C. a3a D. el Asuwl o8l
Linen is also called as fibre.
A. Flax B. Ramie
C. Jute D. Hamp
Alotot 1SR 313 ugL A B.
A Qe B. 2
In a steeping process of viscose rayon manufacturing, the concentration of caustic soda
is %.
A. 155 B. 175
C. 175 D. 105
(A81U 2 ototl Gauleotofl RWIUIoL ylsauui s\Res Wstoll Uiscll % slu B.
A quu B qou

C. ou D. qou

Which type of structure of polypropylene has gained considerable acceptance as a
textile fibre?

A. Isotactic B.  Atactic

C. Syndiotactic D. None of these

WAV AlA] sal UsiRe] sl 28218 2 a3 alettult cllgl wi

89



50.

vo.

51.

uq.

52.

UR.

53.

u3.

54,

uy.

55.

uy,

56.

A AR sdls B.  AQesdls

C. RoSlA2sdls D. el Asual o8l
At which temperature the acrylic can be ironed safely?

A. 170°C B. 160°C

C. 190°C D. 185°C

ABAsA sell dAluMLa U8l At 3la 3l 531 asta 82

A 90°Q B.  qs50°Q

C.  qeo D.  q¢uod

Which monomer is used to prepare CDPET?

A. Ethylene B. Caprolactam

C.  Sodium salt of 5- sulpho D.  Adipic acid

isophthalic acid
CDPETo{l tlotlaleHi 520 HlollHR cuRjgA 20

A SR B. 3\Asen

C yacflusuddls ARst D aAdllls AR
ASaH &R

Which catalyst is used to polymerise the propylene?

A. Acetic acid B. Sodaash

C. Water D. Ziegler Natta

WA letotl QAHAS B2t HIZ 520 GElUS cAUAA B2

A QREs ARLs B. st Ao

C. well D ofloct? sligt

The tex is defined as the weight of the yarn in grams of meter length.

A. 1000 B. 840

C. 480 D. 100

2Rl ol Ul Alolotl UHHL oot 28l gl caulvAlRd
scllH A B,

A 4000 B. ¢¥0

C. ¥¢o D. 400

The density of viscose rayon is .gm/cm®.

A. 135 B. 123

C. 153 D. 125
(A811 2 otoll ol aUHARAHL.

A q3y B q.23

C. qus D q.2y
Adipic acid is a

A.  Polymer B.  Monomer
C. Homopolymer D. Co-polymer
AsIUls AR A 8.

A Qe B. el

C. ez D. g
The softness of viscose rayon is due to Cross section.
A. Circular B. Dog-bone
C.  Triangular D. Serrated
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us.

S7.

.

58.

uc.

59.

ue.

60.

SO.

61.

SA.

62.

SR.

63.

S3.

(A281U 2 ote] ot UG] USOE ol AlD sl B,

A adausiz B stor-elet

C. Asela D eladler

Lycra fibre contains at least 85%

A.  Segmented polyurethane B.  Adipic acid

C.  Vinyl chloride D. Caprolactam

(@sl $LESHR BEIHT A CUY% YRAA D,

A AaNees WAYR A B. Adluls ARs

C. [Qousscd sAARLS D. yqasen

Which fibre has the 3-glucose as repeat unit in their structure?

A. Silk B. Wool

C. Cotton D. Nylon

sl $LEUR Aotl GURRIML B-o645105 At ol AsH URNA B?

A dam B. Qo

C. Sed D siaclet

The weight of the silk fibre after degumming process.

A. Increases B.  Decreases

C.  Remain constant D.  None of these

Slot{lot ylsau uedl a1 oot 8.

A all B w2

C. wun W D. el Asuwl o8l

Which spinning method is used to produce viscose rayon?

A. Dryspinning B.  Wet spinning

C.  Melt spinning D.  None of these

(A8 R2Aotatl Geuleat MR 58 RU{loL ugldoll GulloL Ul B?

A sl @ellol B Az @ellot

C. Ace @l D il Asugl otel
is used to remove rust stains from viscose rayon filament.

A. 2% oxalic acid B. 2% caustic soda

C. 2% sodaash D. 2% formic acid

(A5l 22t (N2 Ul 510l SLEll £R SRcll HI2 AuRvA B.

A2 As@As AR B 29 S1R2s Alst

C. 29 st Al D. 29 s160s AR

How many carbon atoms are present in the repeat unit of Nylon-6?

A. 04 B. 05

C. 06 D. 07

sllAA-S otl Aleldo{lal AsHHL B2l stolol URHIRAL 8l B?

A oy B- ou

The chemical process of burr extraction from wool is called as

A.  Hydrolysis B.  Oxidation

C.  Polymerisation D. Carbonisation

BlotHiell ¢fR oltHoll WY& £2 sl W2 auRjdl RuaBls Yl 3%

o V.
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64.

S¥.

65.

S\U.

66.

SS.

67.

SO.

68.

SC.

69.

Sc.

70.

90.

A oqQeueset B. 330t

C. QAupASHalst D. glelloies Ratot

A continuous filament yarn composed of many filaments is known as
yarn.

A, Multi B. Staple

C. Mono D. Flat

Rl olell (FENo2 ULl AW Alolal BaRoe 2ol sdaa .
Ayl B.  Rua

C. WAl D. Q2

The tenacity of viscose rayon in dry state gm/denier.

A 1.4-20 B. 3.0-4.9

C. 2531 D. 3354

(A1t 22 otoll Y| W ctzeHl 2a1{131 AH/3e{lR.

A %R0 B. 30-¥.c¢

C. 2u3a D. 33y

The moisture regain of Iyocell fibre is % at 65% R.H. and 70°F.
A. 85 B. 115

C. 95 D. 105

ARLAAA Asatslals SU%R.H. Wl YO°F dlUHLa % .
A ¢l B.  qquy

C. ey D. qou

Polyester is a fibre.

A.  Hydrophilic B.  Semi synthetic

C. Hydrophobic D.  None of these
WcllAze: A L B.

A xales B R

C. yicus D. el Asugt o8l
The percentage composition of cellulose in dry cotton is %.
A. 28-38 B. 18-28

C. 68-78 D. 88-97

sl SleotHi ARA o] 2slclIHl des YHIRL % slA 8.

A e3¢ B qe-r¢

C. gcoc D. ¢c-eo

The melting point of polypropylene is oC.

A.  160-170 B. 106-126

C. 155-160 D. 145-155

WA lete] olctet(olg °ABD.

A 950-290 B q0s-1?s

C. quu-aso D ayu-quu

Which fibres are produced by co-polymerisation?

A.  Polyester B. Acrylic

C. Nylon-6 D. Polypropylene

gl $LEHR] GUlE ol SL-W(AHRAS Dot gl Al B?

A QdlRie? B Aldls

filament
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C. sladet-S D Q@anUldlst

*hkkkhhkkkikhkkkihkkikkik
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